< Place answers ere!

Calculator INactive

IfF(x) = f v’t + 3dt, what is F'(x)?
a.

b.
c.
d.
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None of the above

2. Let R be the region between the function f(x) = x* + 1, the x-axis, and the lines x = 0 and x =
Using the Trapezoidal Rule, compute the area when there are four equal subdivisions.
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Whatis f(x) if f'(x) = 2=

£ = lnjx? - 1] -%O =)t f %f dx du =2xd ¢

f(x) =InJx* - 1| -In3
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f(x) =In|x? —1| +1n3

f(x)=2Inx—x?>-2In2 +

f(x) =2Inx — x? 4_@0() O‘ji‘f’l’ Ao = .Q.h.’“{ LL(Z-)_'3
I [x*=1]
AP -i,v\3

X= el

The graph of f{x) shown consists of three line
segments and one semicircle. Let g(x) =

f_xz f(t)dt. Which of the following statements must

be false?
va. g4 = [, f@de=n+s -2
Vb g8 = [Tdt = —n—2 [ FEH

ve ¢©=1 &) £¢)
X @) g(x)hasa relatlvé) max1m?1m atx =4 -C(?Cg {9 grto
"e._g(x) has a point of inflection at x = 2 £ ()¢

.
If R(x) is an even function and S(x) is an odd function wheref R(x)dx =5 andf S(x)dx = =3, G l%f

find the value of [* [2(5(x)) = R(x) + 3|dx. o, a <'£JV\
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7 (minutes) _ :
W(t) (degrees Fahrenheit) | 55.0 57.1 8 9| 710

twice-differentiable function W, where W(t) is measured i
of the water is 55°F. The water is heated for 30 minutes,

The temperature waater ina tub at time ¢t is modeled by a strictly increasing,
4 deg.ree_s Fahre_nhelt and tis measured in minutes, At time t=0, the temperature
% beginning at time t = 0. Values of W(t) atselected time ¢ for the first 20 minutes are given in the table above.

a) Use the data in the table to estimate W’(12). Show the computation that leads to your answer. Use
correct units.

WOD-w(®)  (7.q-¢].8
IS=94 = " 5—q
@rl.oﬂo)
waz=_[, 017 OF/W\’:/\ = units

b) Use the data in the table to evaluate fom W'(t)dt. Write your answer with correct units.

j Wi = W(20) - W(S) = T1 -85

fozo W'(t)dt = 1 (0 °F = units

For 0 <t < 20, the average temperature of water in the tub is 2—10 fozo W (t)dt. Use a left Riemann sum
with the four subintervals indicated by the data in the table to approximate 21_0I020 W(t)dt. Does this
approximation overestimate or underestimate the average temperature of the water over these 20
minutes? Explain your reasoning.
20y 15, s o2 g ‘ (
L T = 459+ 5(57.0) +4(61.8) + 5(67.9)
;o TSSO N
0 <0
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LRAM = fa“le. g 5%1‘020 W(t)dt = @O ,"ﬁ over/underestimate? Uj\def
Why?_W(4H) 15 Increasiag

For 20 < t < 25, the function W that models the water temperature has first derivative gigen by

W'(t) = 0.4/t cos(0.06t). Based on the model, what is the temperature of the water at time ¢t = 25?

W(as) = W(a0)+ xf(ﬂdf,
>

d)

Answer = 730 01‘1’3 ’7]
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